> restart,
- Load from http:/mww.ccas.ru/ca/_media/truncatedseries2020.zip the archive with two files:
maple.ind and maple.lib.
- Put these files to some directory, for example to “/usr/userlib”.
- Assign libname := "/usr/userlib”, libname in the Maple session.
| > [ibname := "/usr/userlib/maple.lib", libname :

> with(TruncatedSeries);
[ FormalSolution, LaurentSolution, RegularSolution ] 1)

>

> eql == (-1 +x+x"2+0(x"3)) *theta(y(x),x,2) — (2 +0(x"3)) *theta(y(x),x, 1) + Sum((i"2 +2*i
+1-(i+1)72) *x™i, i=4 _.infinity) * y(x);
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eql = (—1 Fx+x +O(x3)) O(y(x),x,2) — (2 +O(x3)) O(y(x),x, 1)+ z (i2 +2i4+1—(i 2
i=4
+1)2)xi] y(x)
=> LaurentSolution (eql, y(x),
'top'=", 'threshold'=h");
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=> h’
i FAIL 4
> eq2 = (x™7 +x"5) *diff (y x$4) (18* Mo+ Sum((-1)7k* /\k/k' k=17. inﬁnity *diff (y
$3) + (96*x"3 + O(x"6)) *diff (y x$2) (168 *x"2 + O(x"5)) *diff (y ) + 72*x*y( );
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eq2 = (x7 +x5) — y(x) 18 x* + Z JJ [d—3 y(x) | + (96x3 +O(x6)) d_2 5)
dx = dx dx
y(x) | + (168x2 +O(x5)) (% y(x)) + 72 xy(x)
=> RegularSolution(eq2, y(x), 'top'=3, 'threshold'=h");
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> eq3 = (x4 —|-O(x7)) *theta(y(x), x, 3) + (3'x+0(x5)) *theta(y(x), x, 2) + (I + Sum(i*x"i, i=1

X,
.infinity) ) *theta(y(x), x, 1) =0;

eq3 = (* +0(x")) B(y(x),x3) + (3x+0(x*)) 0(v(x), x,2) + | 1+ > ixi] 0(y(x),x,1)=0 (8
i=1
>
> FormalSolution(eq3, y(x), 'threshold'=h");
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=> h’
i FAIL (10)
> FormalSolution(eq3, y(x), 'threshold'=h','top'=10);
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=> h’
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